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Quiz Date: 7th May 2020

Directions (1-15): In each of the following questions two equations are given. You have to
solve the equations and

1.3x* +10x+8=0
Ql II3y2+7y+4:0

(a)ifx<y
(b)ifx<y
(c) relationship between x and y cannot be determined
(d)ifx=y
(e)ifx>y

[2x°+21x+10=0
qz. 113y +13y+14=0

(a)ifx<y
(b)ifx<y
(c) relationship between x and y cannot be determined
(d)ifx=y
(e)ifx>y

Lx*+x-12=0
Q3- II.}F2+2}F—8:U
(a)ifx<y
(b)ifx<y
(c) relationship between x and y cannot be determined
(d)ifx=zy
(e)ifx>y

L4x*-13x+9=0

04 IL3y* - 14y +16=0

(a)ifx<y
(b)ifx<y
(c) relationship between x and y cannot be determined
(d)ifx=y
(e)ifx>y

L.8x*+18x+9=0
Q5. IL.4y> + 19y +21=0
(a)ifx<y
(b)ifx<y
(c) relationship between x and y cannot be determined
(d)ifx=y
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(e)ifx>y

L3x%2+16x+21=0

Q6 IL6y*+17y+12=0

(a)ifx<y
(b)ifx<y
(c) relationship between x and y cannot be determined
(d)ifx=y
(e)ifx>y

L 16x* +20x+6=0

I 10y* + 38y + 24 =0
Q7 y y

(a)ifx<y
(b)ifx<y
(c) relationship between x and y cannot be determined
(d)ifxzy

(e)ifx>y
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1.8x%+6x=5

Q8 I1.12y* - 22y +8=0

(a)ifx<y

(b)ifx<y

(c) relationship between x and y cannot be determined
(d)ifx=zy
(e)ifx>y

.17x*+48x=9

. U 13y? =32y - 12

(a)ifx<y
(b)ifx<y
(c) relationship between x and y cannot be determined
(d)ifx=y
(e)ifx>y
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.8x% +26x+15=0

ot0. I 4y? + 24y +35=0

(a)ifx<y
(b)ifx<y
(c) relationship between x and y cannot be determined
(d)ifxzy
(e)ifx>y

L6x°+19x+15=0

011, I 24y* + 11y +1=0

(a)ifx<y
(b)ifx<y
(c) relationship between x and y cannot be determined
(d)ifxzy
(e)ifx>y

L2x2+ 11x+15=0
o1z, L4y’ +22y+24=0

(a)ifx<y
(b)ifx<y
(c) relationship between x and y cannot be determined
(d)ifxzy
(e)ifx>y

.2x*4+9x+9=0
13, L2y +17y+36=0

(a)ifx<y
(b)ifx<y
(c) relationship between x and y cannot be determined
(d)ifx=y
(e)ifx>y

1.5x* +29x+20=0

2 _
Q14 IL. 25y° + 2by+6=0

(a)ifx<y
(b)ifx<y
(c) relationship between x and y cannot be determined
(d)ifx=y
(e)ifx>y

L3x*-16x+21=0

Q15 II.3y* - 28y + 65 =0
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(a)ifx<y
(b)ifx<y
(c) relationship between x and y cannot be determined
(d)ifx=zy
(e)ifx>y

Solutions

S1. Ans.(b)

Sol.

.3x* +10x+8=0
=3x"+6x+4x+8=0
=x+2)(3x+4)=0
=x=-2,-4/3

IL3y*+7y+4=0
=3y +3y+4y+4=0
=(y+1)(3y+4)=0

=y=-1,-4/3

V=X
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S2. Ans.(c)
Sol.

L2x*+21x+10=0
=2x*+20+x+10=0
=(x+10)(2x+1)=0
=x=-10,-1/2

IL3y*+13y+14=0
=3y +6y+7y+14=0
=(y+2)(3y+7)=0
=y=-2,-7/3

No relation

S3. Ans.(c)
Sol.
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Lx*+x-12=0
=x+4x-3x-12=0
=(x+4)(x-3)=0
=x=13,-4

ILy*+2y-8=0
=y +4y-2y-8=0
=(y+4)(y-2)=0
=y=-42

No relation

S4. Ans.(c)
Sol.

L4x*-13x+9=0
=4x* - 4x-9x+9=0
=x-1)(4x-9}=0
=x=1,9/4

IL 3y - 14y + 16 =0
=3y’ -6y-8y+16=0
= (y-2)(3y-8)=0
=y=2,8/3

No relation

S5. Ans.(e)
Sol.

.8x*+18x+9=0
=8x°+12x+6x+9=0
= (2x+3)(4x+3)=0
=x=-3/2,-3/4

IL4y* +19y +21=0
=4y* + 12y + 7Ty + 21 =0

=(y+3)[4y+7)=0
=x=-3,-7/4
Sol. *7¥

S6. Ans.(a)

I.3x" +16x+21=0
=3x°+9x+7x+21=0
=(x+3)(3x+7)=0
=x=-3,-7/3

IL 6y* + 17y + 12 =0
=6y +0y+8y+12=0
=3y (2y+3)+4(2y+3)=0

=y=-3/2,-4/3

}J’:}X
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S7. Ans.(e)
Sol.

L 16x°+20x+6=0
=8x*+10x+3=0
=8 +4x+6x+3=0
=2x+1)(4x+3)=0
> x=-1/2,-3/4

IL 10y* + 38y +24 =0
=5y + 19y +12=0
= 5y° + 15y + 4y +12=0
=(y+3)(5y+4)=0
y=-3,-4/5

X=V

$8. Ans.(b)
Sol.

.8x* +6x-5=0
=8x°+ 10x-4x-5=0
= (4x+5)(2x-1)=0
=x=1,-5/4

IL12y* - 22y +8=0
=6y°-11ly+4=0
=6y°-3y-8y+4=0
=(2y-1)(3y-4)=0
=y=1/2,4/3

VeX

S9. Ans.(a)
Sol.
.17x* +48x-9=0
= 17x*+51x-3x-9=0
= (x+3)(17x-3)=0
=x=3/17,-3

I1.13y" -32y+12=0
= 13y° - 26y -6y +12=0
=(y-2)(13y-6)=0
=y=2,6/13

V=X
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S10. Ans.(d)
Sol.

I.8x* +26x+15=0
=8x>+20x+6x+15=0
=4x (2x+5) +3(2x+5)=0
=(2x+5)(4x+3)=0
=x=-5/2,-3/4

IL 4y* + 24y +35=0
= 4y* + 10y + 14y + 35=0
=2y (2y+5)+7(2y+5)=0
=(2y+5)(2y+7)=0

=y=-5/2,-7/2
X2y
ENGLISH
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S11. Ans.(a)
Sol.

I.6x°+19x+15=0
=6x>+9%+10x+15=0
= ([2x+3)(3x+5)=0
=x=-3/2,-5/3

IL24y" + 11y +1=0
= 24y° +8y + 3y +1=0
=(3y+1)(8y+1)=0
=y=-1/3,-1/8

y>X

S12. Ans.(c)
Sol.
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.2x* +11x+ 15=0
=2x°+6x+5x+15=0
=(x+3)(2x+5)=0
=x=-3,-5/2

IL4y* + 22y +24=0
=2y + 11y +12=0
=2y*+8y+3y+12=0
=(y+4)(2y+3)=0
=y=-4-3/2

No relation

S13. Ans.(e)
Sol.

L2x*+9x+9=0
=2x°+6x+3x+9=0
=(x+3)(2x+3)=0
=x=-3,-3/2

IL2y* +17y+36=0
= 2y* +8y+9y+36=0
=(y+4)(2y+9)=0
y=-4,-9/2

X>y

S14. Ans.(a)
Sol.

L5x°+29+20=0
=5x+25x+4x+20=0
= (x+5)(bx+4)=0
=x=-5,-4/5

IL. 25y° + 25y + 6 =0
= 25y° + 15y + 10y + 6 =0

= (by+3)(by+2)=0
=y=-3/5-2/b

V=X

S15. Ans.(a)
Sol.
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I.3x*-16x+21=0
=3x*-9x-7x+21=0
= x-3)(3x-7)=0
=x=3,7/3

I.3y* -28y +65=0
= 3y° - 15y - 13y + 65=0
= (y-5)(3y-13)=0
=y=5,13/3

V=X
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